
Aire et Volume d’un Tronc de Cône (J)
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
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2 + r1r2)

r1 = 129,0 km

h = 177,0 km

r2 = 30,0 km1.

r1 = 71,4 yd

h = 126,0 yd

r2 = 48,3 yd2.

r1 = 160 dam

h = 160 dam

r2 = 64 dam3.

r1 = 40,32 dm

h = 65,12 dm

r2 = 21,60 dm4.
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Aire et Volume d’un Tronc de Cône (J) Réponses
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
(r1–r2)2 + h2 + πr1

2 + πr2
2 Volume =

π

3
h(r1

2 + r2
2 + r1r2)

r1 = 129,0 km

h = 177,0 km

r2 = 30,0 km1.

Aire: 156.410,6 km2

Volume: 3.968.613,8 km3

r1 = 71,4 yd

h = 126,0 yd

r2 = 48,3 yd2.

Aire: 71.516,5 yd2

Volume: 1.435.512,2 yd3

r1 = 160 dam

h = 160 dam

r2 = 64 dam3.

Aire: 224.600 dam2

Volume: 6.691.341 dam3

r1 = 40,32 dm

h = 65,12 dm

r2 = 21,60 dm4.

Aire: 19.753,69 dm2

Volume: 202.069,25 dm3
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